[Time: 2% Hours]

N.B. (1) All questioné are compulsory. (2) Figures to the right indicate fu

a) InlIndia the birth rate is declining.

b) Poverty is a multidimensional concept. -
c) Agricultural marketing reforms aim at establlshlng farmers
d) Greater autonomy is given to Navratnas. ¥,

e) The Government classifies the Industries into Mlcro”

the Investment limit.
f) India is witnessing a transition from an ag%‘
g) FDlis not permitted in Insurance sector m l
h) India is not a member of SAARC

of companies.

B) Fill in the Blanks: (Any Seven) .
a) populationp
['Family Planning Programm,e )

‘not the features of Commercial bills.
[Short term / Trade ble/ Issued by RBI]

j) AnincreaseinSIR___
[increases lendlng capacity of banks / reduces lending capacity of banks / does not change]
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Q2 A) Define Income Inequality. Briefly outline the effects of Income ine
B) Explain the causes of unemployment in India. :
OR
C) Discuss the main forms of land reforms introduced in India,~
D) Discuss the institutional sources of finance for the agricu

Q 3 A) Discuss the trends in industrial growth during pre and pos’
B} Explain the role and performance of Small Scale Indus
OR v
C) Explain the meaning and objectives of Disinvestment po
D) Discuss the main features of the Industrial Po cy 199

C) Discuss the changes in balance o

and foreign exchange reserves in’ (8)
D) Discuss in brief the various: (7)
Q.5 A) Examine briefly the_:réf s ul (8)
B) Bring out the changes in-op
recent years. « (7)
(15)
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